PITT Qube JCE-1510UK-AAA-O

Copyright(c) KOSHIN Ltd. All Rights Reserved. 1 2025/01/16 09:14:51




PITT Qube

JCE-1510UK-AAA-O

No. i LLE Mg - HE BRI Eff T
1 059814401 JCE-1510UKR Y THRE Y 2 1 55,000
82 059195601 JCE #i-an" 71 1 200
83 059178101 JCEM%HIRBI R — 2R }&4M Ab-1- 1 700
84 059179701 INAIIVY AR b M8x20 1 200
85 059176001 JCE-1510KT >~ < K210 1 0
86 011688103 |1 YU HWEEIA W 1 #80 §y5#E|1 200
87 059186101 JCE-1510KRY /TS v b 1 2,200
88 059186201 AR S M8*16 2 200
89 0109269 PA-273 JCERR AAM-F- 1 3,900|PA-273(4971770-107694)
90 059180401 EE (/M) M8 2 200
91 059186501 JCE-1510KRA#RT" 48° V7° R 1 1,200
92 059186901 JCE-1510KRE#RI" 45" V7° L 1 1,200
93 059187001 JCE-1510KRA#RI" AIVY" VR 1 1,200
94 059187101 JCE-1510KRA#RI" A1V JL 1 1,200
95 059180301 NAITZVIMFY K 8 200
96 059186701 TREE 4 200
97 843822008 |[/NREESE M8 4 200
98 059814701 JCE-1510UKT7 L —AL7 X 1 23,700
99 059196001 JCE-1510UK7 L — A 1 22,600
100 |059176302 [JCE-1408DX/\> KL 1 6,100
101 059178301 JCEZ/ O X v 5 200
102 (059189701 JCE-1510UK-AAA-OE&4R 1 200

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 09:14:51




PITT Qube

JCE-1510UK-AAA-O

No. mE i RE - ME B EM wE
103 [059196401 [JCE-1510UKfERA 1 ILES NI 1 200
104 [059161101 [ICEH@BIES NI 1 200
105 [059161001 |[JCE-1510KEOERBES NI 1 200
106 [059160501 [JCE-1510KO IS~ 1 300
107 [059812101 [JCE-1510K3#/ X)L X 5@ty b |1 3,100
#030
00 (059181101 |JCEXHIA/A IE 2 1 700
00 [059181001 [JCE-1510K yn40¥5&R/2" I F(030) 1 700
00 [059180901 [JCE-1510K 3N U253LEK/A I #%(030) 1 700
00 [059180801 [JCE-1510K %40153LE/A I #(30) 1 700
00 [059178401 [JCE-15T10KE&T/2 W7H #(30) 1 700
108 [059175602 [JCE 7/49F47°5-(7°34") 1 900
109 [0109259 PA-270 JCE[EI4R/A" IIE 1 17,200[PA-270(4971770-107595)
110 [059178001  [JCE-1510K&Ki-2 3m 1 1,300
111 |059814101 [CEXKEEHRK—R VI (%) 1 4,400
112 [0109268 PA-272 JCEIR A$-23M 1 8,200[PA-272(4971770-107687)
113 [059814301 [JCE-1408UDXHK—R 7w o4 I 1 1,600
114 [059180701 [JCEERLiL&HEH $17 2 200
115 [059811901 [JCE=#47 I 2 1,400
116 [059178601 [JCE& A+ 1017% 2 3,900
117 [059811701 [JCE-1510KZ v ¥ 3> IL4 3 2 300
118 [059178701 |CE/ X&) —F+—EY Sus 1 200
119 [0109258 PA-269 JCE1510/2 373 1 7,200[PA-269(4971770-101588)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 09:14:51




PITT Qube JCE-1510UK-AAA-O
No. i LLE Mg - HE BRI Eff T

120 (0109256 PA-267 JCEN" »(70993X) 1 11,800[PA-267(4971770-107564)
121 [{0109253 PA-262 JCE10M779yF5% 1 18,200|PA-262(4971770-107533)
122 [{059184801 JCE O)»)™ 9X2.5 9%x2.5 2 200

123 |059184901 JCE OY»9" 11.7*2.65 11.7x2.65 |1 200

124 [059185101 JCE IR AB-21° %Y 24x18x%x2 1 200

125 (059188201 UCE 7299307° 3(Y59b) PT3/8 1 900

126 |059176501 JCE-1408DX/\> RIVEEE Y 1 300

127 059813202 [JCE-1408DX/\Y KLY X 1 7,000

00 059189903  |JCE-1510UKENRFRAAE A4 1 400

00 100031905 |K180,K210T > ¥ VELER 1 0]

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 09:14:51




JCE-1510UK-AAA-O

PITT Qube

;\;

® 6 ®®Qe 9 @
, \ = ) \ 3 ) e A 0 .
, ) ) o) © \ )

@y &

\,

2025/01/16 09:14:51

Copyright(c) KOSHIN Ltd. All Rights Reserved.



PITT Qube

JCE-1510UK-AAA-O

No. i LLE Mg - HE BRI Eff T
2 059182701 JCE-1510KANA T & RIL hM6*16 M6x16 10 200
3 059814501 JCE-1510UKRL Y IS5 3 1 300
4 059190301 JCE-1510UKKL ¥ 734 16x1.5 1 200
5 059170401 JCE-1408 OYvy” 14.2x1.9 1 200
6 059190502 [(JCE-1510UKY S v 97 —Rh/N— 15-11 1 2,100
7 059183401 JCE-1510K0O Y > & 104*3 104x%3 1 200
8 059190401 JCE-1510UKA ML ¥ v v 7 1 300
9 059190601 JCE-1510UKA M ILL Y XF v v 1 1,700
10 059190701 JCE-1510UK O > 7'38*1.8 38x1.8 1 200
11 059190801 JCE-15T0UK #MWbv2° 1 200
12 059190901 JCE-1510UK #4W5™-9" -} 1 200
13 059191001 JCE-1510UK bva™ 4)v7° 1 200
14 059191101 JCE-1510UK O!) > &/'55.25%2.62 55.25%x2.62 |1 200
15 059191201 JCE-1510UK 2ty7° )»y° 25 1 200
16 059191301 JCE-1510UKAR T Y ¥ 5'62*25*17 62x25x17 |1 2,400
17 059191401 JCE-1510UKZ S oY% T b 1 8,300
18 059191701 JCE-1510UKY SV —R 1 9,900
19 059184001 JCE-1510K=— KILRT Y v o 1 2,900
20 059183701 JCE-1510K0Q ) >4 51.8*2.2 51.8x2.2 2 200
21 059161301 JCE-1510KANA T & RIL hM8*16 M8x16 8 200
22 059184101 JCE-1510K7 5 v ¥ 1 2,900
23 059161201 JCE-1510K 1 L —JLA 1 800

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 09:14:51




PITT Qube JCE-1510UK-AAA-O
No. i LLE Mg - HE BRI Eff T

24 059191501 JCE-1510UKI > Ay b 3 1,100
25 059161501 JCE-1510Ka>vay KEY 3 200
26 059191601 JCE-1510UKT S v v — 3 3,100
27 059173501 JCE-1408 OYvy” 15%x2.5 3 200
28 059161802 |JCE-1510KZF 1)L —JLB 3 1,100
29 059161901 JCE-1510KEZR k¥ A4 R 3 700
30 059162001 JCE-1510K OY»%° 26.7x1.78 |3 200
31 059162101 JCE-1510KERX b v —JL A 3 1,100
32 059162201 JCE-1510KEZR > YV FA 3 700
33 059162301 JCE-1510KER b v/ £ 3 500
34 059162401 JCE-1510KERX b v —JLB 3 1,300
35 059162501 JCE-1510KEZ > Y > o' B 3 700
36 059162601 JCE-1510K+FRIF & FRI©RY M6x8 1 200
37 059162701 JCE-1510KEHRZE ) 7 1 700
38 059162801 JCE-1510KE S FAEE A 1 1,500
39 059162901 JCE-1510KEHABR T ) v & 1 500
40 059163001 JCE-1510KEEGREER 7)) v /RS X 1 300
41 059163201 JCE-1510KANANRNE LD XY M4 x4 1 200
42 059163101 JCE-1510KIEEDFAEEF v b 1 400
43 059809901 JCE-1510K7 > O—4—/\ILT ¥ 3 1 3,100
44 059163401 JCE-1510KE EAEEF+ K 1 400
45 059163301 JCE-1510K OY»%° 9.25x1.78 |1 200

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 09:14:51




PITT Qube

JCE-1510UK-AAA-O

No. i LLE Mg - HE BRI Eff T
46 059163501 JCE-1510K 7K iE#2 1 1,000
47 059163601 JCE-1510K OY»%° 12.2x2.4 1 200
48 059191901 JCE-1510UKREH /L T AR 1 4,700
49 059191801 JCE-1510UK7 v &+ 7 X 1 200
50 059163901 JCE-1510K7 35 & 5 700
51 059164001 JCE-1510K OY»)° 18x2.65 6 200
52 059193301 JCE-15T0UKIR A - It FH 2 X (11.8MM) 11.8MM 6 700
53 059164101 JCE-1510K OY»¥° 15.54x2.62 |6 200
54 059164201 JCE-1510KE 5T 1 5,500
55 059164301 JCE-1510KEHE TS5 1 700
56 059192301 JCE-1510UKR > &K 1 24,200
57 059192701 JCE-1510UK/NA#2ZGT1/4 1 900
58 059192601 JCE-1510UK/NA#NPT1/4 1 900
59 059167501 JCE-1408%FIRA =Y FIL 1 700
60 059167601 JCE-14080Y >4 4.47x1.78 |1 200
61 059167701 JCE-14085%#&IMk A 1 200
62 059167801 JCE-1408%FRAR T v & 1 200
63 059165001 JCE-1510K OY»)° 4.2x2.4 2 200
64 059165101 JCE-15T10KMt i # 1 400
65 059165201 JCE-1510KIEFR T v & 1 200
66 059173201 JCE-1408 OY7” 14x1.9 2 200
67 059192001 JCE-1510UKIt O RV 4 — 1 1,800

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 09:14:51




PITT Qube

JCE-1510UK-AAA-O

No. i LLE Mg - HE BRI Eff T
68 059192101 JCE-1510UKT7 V4 v FHTS5— 1 1,000
69 059195801 JCE-1510UKO ) » 7'11.3*2.4 11.3x2.4 1 200
70 059192201 JCE-15T0UKIR A - RIK/NIL T AR 1 2,700
71 059195901 JCE-1510UKO ) » 7'16.3*2.4 16.3x2.4 2 200
72 059192501 JCE-1510UKIR A7RIL b 1 2,000
73 059166201 JCE-1510KM& A 7414~ 1 400
74 059165901 JCE-1510KIRA T 4 74 — 1 1,000
75 059193201 JCE-1510UKT v ¥+ ¥ X22 1 200
76 059192401 JCE-1510UKRKI#9%- 1 1,000
77 059192802  JCE-15T0UKA7°Y»9° g.gx5.6x18x 1 200
78 059192901 JCE-15T0UKE /L 7 1 1,100
79 059193001 JCE-1510UKO ) > 5'11.4*1.78 11.4x1.78 |1 200
80 059193101 JCE-1510UK/NJL T#2 1 800
81 059166001 JCE-1510KANART & RIL b M6x55 8 200
82 059818301 JCE-1510UK R> 7' ¥ X 1 33,000
83 059818401 JCE-1510UK 1h7-293 1 23,100

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 09:14:51




PITT Qube JCE-1510UK-AAA-O

KOSHIN O—
[T 08K-B IERISPmERRE]
TP BRE.UAMINRE—F—EOSNIIEZHRLEZN,
IV EBRIEITRESZICRANTSEZL,

(2B A NI 22 JKK25 - KC22 - KC26 )

OH LLIE@QD NIV ZER L TLIEEL,

(484 )T 22 )I(K25 - KC22 - KQ26LIAD T )

¥ K100

3 A1301002345

— Q)

—

Copyright(c) KOSHIN Ltd. All Rights 10 2025/01/16 09:14:51
Reserved.




PITT Qube JCE-1510UK-AAA-O

o DY E—\y RSRIN—=TTS45 KOSHIN K210(JCE)

==KOSHIN oot

h

Copyright(c) KOSHIN Ltd. All Rights 11 2025/01/16 09:14:51
Reserved.




PITT Qube

JCE-1510UK-AAA-O

No. mE SREZ G - ME BRI EfM S
1 100039701  |K210 AN 24h 12131- 1 300
Z950110-
00AO
2 700039801  |AF AN - K180 K210 12470- 1 500
Z440210-
00A9
3 700039901  [\F BN -1 A7k (12004- 1 200
Z440210-
00AO)
4 700000401  [TUBE BREATHER (17004~ 1 700
Z440110-
0000)
5 700040001 |K210 7575 Wk 4 200| ¢ 8X ¢ 12X90
6 700000601 |*vF & WF(M6113) K180 (90204- 1 200|M6X12
Z010310-
0000)
7 700040101 |[K210R % v KAk 1 200|M6X113.5
8 100000701 [*fvF & WF(M8*34) K100 (90203- 2 200|M8X34
Z010110-
0000)
9 700000801 [V (¢ 11+14) 2 200[¢ 11X14
170 |100000901  [7U%5" -AvK & Wh(M8*60) (12003- 4 200
Z010110-
0000)
11 |100009201 |V -47° 37" (LG F6TC) (30010- 1 300
2010210-
00A0)
12 |100040201  |K210 YU7% -AyF ASSY 12140- 1 2,600
Z440310-
0000

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

12

2025/01/16 09:14:51




JCE-1510UK-AAA-O

PITT Qube

[
o
=
=)
=
o
(o
=
o=
(%)
o
=

o FI7TT— R IINT T £ T—R I —

19.04

=KOSHIN

2025/01/16 09:14:51

13

Copyright(c) KOSHIN Ltd. All Rights
Reserved.



PITT Qube

[\[o}

LLES
100040301

K210 77795-2ASSY

JCE-1510UK-AAA-O

Mg - HE BRI Eff

11310-
7530820-
0000

1

6,000

T

100001401

T FASSY K180

(16400-
Z010110-
00A0)

400

100001501

BN P-4 K180

(16061-
Z010110-
00AO0)

200

100001601

K100 } bu7° 357 wh

(11007-
Z010110-
00AO0)

200

M10X15

100001701

799v- (¢ 10*¢ 15.8*1.5) K100

(90408-
Z010110-
00A0)

200

$ 10X ¢ 15.8X1.5

100040401

K210 A" 797"

(90548-
0205-CLAO)

300

100001901

SEALOIL (¢ 25*¢41.25*6)

(90682-
Z010110-
0000)

250

100002001

99%4-(6.2*15%0.6) K180

(90408-
2010210-
0000)

200

¢ 6.2X15X0.6

100002101

E> K100

(90501-
Z010110-
00AO0)

200

10

100002301

h3995-28 -(M8) K180

(11411~
Z440110-
0000)

1,900

11

100040401

K210 A" 729"

(90548-
0205-CLAO)

300

12

100001901

SEAL OIL (¢ 25*¢41.25%6)

(90682-
Z010110-
0000)

250

13

100002401

h3795-20" Avh K180

(17001-
2440110-
00A0)

300

14

100002501

£y ($9*12) K180

(90502-
0912-00A0)

200

15

100040501

DIPSTICK SUBASSEMBLY,OIL (K210)

(15010-
Z010130-
Q5A0)

200

16

100040601

K210 #4h%vy7° ASSY

15030-
Z010130-
Q500

150

17

100040701

K210 7779 & b

90007-0832-
Al

200

M8X32

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 09:14:51




PITT Qube JCE-1510UK-AAA-O

9S50 TN /EXA R &OY R KOSHIN K210(JCE)

==KOSHIN oot

h

Copyright(c) KOSHIN Ltd. All Rights 15 2025/01/16 09:14:51
Reserved.




PITT Qube

No. LS
1 1700040801

Lk
K210 47799%7b ASSY

JCE-1510UK-AAA-O

Mg - HE BRI Eff

(13300-
7530210~
00AT)

1

3,700

T

2 100003101

£ AL VY 7°

(13122-
Z010110-
00A0)

200

3 100040901

K210 t° aby

13111-
7860110-
0000

900

4 100041001

EANE Y (K210)

13121-
Z010110-
00AOQ

200

5 100003401

#9749 My k ASSY K180

(13010-
7440210-
00A9)

700

6 100041101

K210 Y291

(13201-
Z860110-
0000)

300

7 100041201

K210 Y7y 2

13202-
Z5L0110-
00AO

300

8 100041301

K210 #W)75" yb

13210-
Z5L0110-
00AO

400

9 100143901

JCEFAK180 K210T v Y v % —

90521-
Z010110-
00AO

200

Copyright(c) KOSHIN Ltd. All Rights

Reserved.

16

2025/01/16 09:14:51




PITT Qube JCE-1510UK-AAA-O

e hL>v 7k KOSHIN K210(JCE)

==KOSHIN oot

Copyright(c) KOSHIN Ltd. All Rights 17 2025/01/16 09:14:51
Reserved.




PITT Qube

[\[o}

LLES
100003701

LLE
Bhy¥7h ASSY K180

JCE-1510UK-AAA-O

Mg - HE BRI Eff

(14200-
Z440110-
0000)

1

1,300

T

100003801

100049001 K&

(12121-
2010110-
0000)

800

100003901

197491 V7" K180

(12111-
Z010110-
0000)

800

100004001

N V77 R2°YY9")7-F K100

(12112-
Z010110-
00AO0)

200

100004101

N V7T A°YVETy-b (HESRD

(12107-
Z010110-
00AO)

200

100004201

n-7=-4-n" 7"

(12104-
Z010110-
00AO0)

200

100004301

N VT ATAY=-W(I-W" 4}

(12101~
Z010110-
00AO0)

200

100004401

)745-0" 17"

(14081-
7440110-
00AO)

200

100004501

ACPEUTTS

(14071-
Z440110-
00A0)

200

10

100004601

7’b-b K210

(14090-
Z440110-
0000)

200

11

100004701

P K210

(14313-
Z010110-
00A0)

200

12

100004801

ROCKER VALVE

(14311-
Z300110-
0000)

150

13

100004901

NUT VALVE ADJUSTING

(14314-
Z300110-
00AO0)

150

14

100005001

nyytyd K210

(14312-
Z010110-
0000)

200

15

100005101

NN

1700130301z
Ay

200

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

18

2025/01/16 09:14:51




PITT Qube JCE-1510UK-AAA-O

e DA IVAZ—R—,/"T 7> HI\— KOSHIN K210(JCE)

;N{T-JKOSHIN 21.08

Copyright(c) KOSHIN Ltd. All Rights 19 2025/01/16 09:14:51
Reserved.




PITT Qube

No.

LLES
100046301

LLE
7779°F WMMEX8) K100

(90001-
0608-01A0)

JCE-1510UK-AAA-O

4

Mg - HE BRI Eff

200

wE
M6X8

100049201

Y31hr5-5-ASSY K180

(28200-
Z301510-
H700)

1,400

3,4% <

100158801

K210 IV9" YYI43A" b

(88017-
Z140920-
00AO0)

200

T2ty b

100158601

K180-200 KOSHINA™

(88013-
Z440720-
00AO0)

200

100005301

J7VAN - K210

(28110-
2010410-
H7AO0)

800

100005401

SHROUD CYLINDER BODY

(19304-
Z010110-
0000)

700

100005501

SHIELD LOWER

(19340-
Z010110-
0000)

150

100009401

SWITCH SUBASSEMBLY STOP ENGINE

(35540-
2060210-
Q200)

150

100041401

K210 7579 & b

90007-0610-
Al

200

M6X10

10

100041401

K210 7779 & b

90007-0610-
Al

—

200

M6X10

11

100040001

K210 7779 & b

200

M6X12

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

20

2025/01/16 09:14:51




JCE-1510UK-AAA-O

PITT Qube

[
o
=
=)
=
o
(o
=
o=
(%)
o
=

@ F¥ I E—FITTFI ) —F— /R I2T—

19.04

=KOSHIN

2025/01/16 09:14:51

21

Copyright(c) KOSHIN Ltd. All Rights

Reserved.



PITT Qube

JCE-1510UK-AAA-O

No. mE SREZ G - ME BRI EfM S

1 100041501  |[K210 #¥7° b4-ASSY 16100- 1 2,100
Z440810-
00A2

2 100006301 |17-7U-1-1" Avk K180 (17001- 1 200
2010210-
00A0)

3 100006401 |[¥vJL&—HART v k 1 200

4 100006501 |[{yvab-5-%v7 V5- K180 1 200

5 100006601  [¥¥7 b4- 1v92b-5 1 A9k K210 (16002- 1 100
Z010110-
0000)

6 700078601 [Fryn - vy K180 16112- 1 300
Z010110-
0000

7 700078701 |MIF bUF IF K180 16193- 1 200
Z010110-
0000

8 100078801  |MIN LVF Wh°v%y K180 90681- 1 200
Z010510-
0000

9 700078901 [Frun —-F LUk bt K180 16192- 1 200
Z010110-
0000

70 [100079007  [F4u -1 Lyl WEW 9%y K180 90681- 1 200
Z010610-
0000

11 |100006901 [fk (M6) K100 2 200|M6

12 [100041601 |K210 I7-9)-7-ASSY 17100- 1 1,000
Z440220-
00A9

13 |100158701  |TVAvh,I7-9)-F- K210 (17151- 1 400
Z440110-
0000)

14 |100007001  [v75-# ah9k K180 (18001- 1 200
Z440110-
00A0)

15 [100007101 [fvF (M8) K180 (90303- 2 200|M8
0800-31A0)

16 |1000417017 |K210 ¥75-ASSY 1 1,800

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

22

2025/01/16 09:14:51




PITT Qube JCE-1510UK-AAA-O

o o 7 KOSHIN K210(JCE)

Copyright(c) KOSHIN Ltd. All Rights 23 2025/01/16 09:14:51
Reserved.




PITT Qube JCE-1570UK-AAA-O
No. mE SREZ G - ME BRI EfM S
1 100041801  |K210 71-TWv4(IH) BHAITED 1 Ofi&mO ¢38.5
1 100262301 |K210 %% > - JCERE) 1 2,400[f6m0 425 WE T x+
v 7 AT HRNE
2 700007401 |72-Th74M- K180 (16652- 1 200
Z010610-
00AO)
3 100219501  [IREHY9%v97° (1H) BHAITED 1 400 71 —TIL 5 v o ERER
3 100262901 |KIv S vRRES Y 7 xv v 75 1 40071 —TIL I > 7 & AR
BTHRE
4 700007601 |72-ThY%5 347k K100 (16680- 1 200
Z010110-
00AO)
5 100007701 |2 ¥ 7 K100 (90740- 2 200[¢7.5
2010210-
00AO)
6 100007801 [72-Th#1-7 (p4* ¢ 8 ¢ 160) K180 (90686- 1 300
Z010710-
00M2)
7 700041901 |[K210AE7575 & bt 2(1)007-0630— 1 200|M6X30
8 700006901  [F7F (M6) K100 2 200|M6
9 100042001 |51 -##% -§-K100,K210 (30431- 1 200| % 9X & 11X90
Z010110-
0000)

Copyright(c) KOSHIN Ltd. All Rights

Reserved.

24

2025/01/16 09:14:51




JCE-1510UK-AAA-O

PITT Qube

[
o
=
=)
=
o
(o
=
o=
(%)
o
=

pm L 0l%

:\\ :/3

e VAl G | e 67

21.09

KOSHIN

2025/01/16 09:14:51

25

Copyright(c) KOSHIN Ltd. All Rights

Reserved.



PITT Qube

No. LS
1 700008001

LLES
77454-btyh - K180

JCE-1510UK-AAA-O

Mg - HE BRI Eff T

(13501~
Z010110-
0000)

1

200

2 100042101

K210 29-%-7°-Y-

(28002-
7260210-
0000)

200

3 100008201

K210 4-Y79" 77

(19352-
Z440110-
00AO0)

300

4 100008301

77454l

(13510-
Z440110-
00AO0)

2,200

5 100042201

K210 7779 & b

90007-0625-
ATAO

200|M6X25

6 100008501

197 2993v14 K180 K210

100255601z
Ay

—_

1,200

Copyright(c) KOSHIN Ltd. All Rights

Reserved.

26

2025/01/16 09:14:51




PITT Qube JCE-1510UK-AAA-O

9 O ~O—)b KOSHIN K210(JCE)

==KOSHIN

h

Copyright(c) KOSHIN Ltd. All Rights 27 2025/01/16 09:14:51
Reserved.




PITT Qube JCE-1510UK-AAA-O
No. ES m W% - B B EfM e
1 100008601  [17hI-BASSY K180 (16520- 1 800
Z440310-
00AO)
2 [100041407 |[K210 7575 & Wk 90007-0610-[2 200[M6X10
AT
3 [100042301 |K210# N 727 U5 K210 16063- 1 200
2050120-
00A0
4 [100008801 |p n"fmyk K180 (16062- 1 200
2010110-
00071)
5  [100008901  |[AmvyMW3-Y27 J75° K180 (16012- 1 200
2010110-
00AO)
6  [100009701 |1 N F7-5F I} K180 (16072- 1 200
2010110-
00AO)
7 [100006901 [ty}(M6) K100 1 200|M6
8  [100009001 |b N #7-h K180 (16070- 1 200
2010110-
00AO)

Copyright(c) KOSHIN Ltd. All Rights

Reserved.

28

2025/01/16 09:14:51




PITT Qube

JCE-1510UK-AAA-O

@ V=)l KOSHIN K210(JCE)

==KOSHIN o

Copyright(c) KOSHIN Ltd. All Rights Reserved.

29

2025/01/16 09:14:51




PITT Qube JCE-1510UK-AAA-O
No. i LLE Mg - HE BRI Eff T
1 100009601 7°39° V¥ K210 K100 (93130- 1 500
Z010110-
01A0)
00 100031904  [K180,K2108% 5% 1 0]

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

30

2025/01/16 09:14:51




